APPENDIX A: SPREADSHEET CALCULATION — EXAMPLE

This example is the standard case where increased traffic loading is expected on a set of quarry roads, and the net present value resulting from the changed
activity is to be quantified, using the Austroads Simplified Approach.
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GeoSolve #160351 Impact of HCV traffic on Low Volume Roads

NPY Options

Discount Rate
Area Average Rehabilitation Cost $
Full network rehabilitation cycle

Typical rehabilitated life achieved

1

25| years
25| years ¥

6.0%

50.00 | im*

Percentag® of STL as Terminal 10.02 % of treatment length
Annual Maintenance Rate $ 2,000 | tkm

Reseal Frequency 0| years

Reseal Unit Rate S 7E9 | im?

Total Area of Route 20604.8 |\ m*

Total Length 2.561|km

Annual Maintenance Cost $ 5.122.

NPV Baseline 3 467.74

MNPY Baseline « Additional Traffic $ 1.896.0:

NPY¥ Austroads Simplified

+ g | Thirmadel arrumer abaroline lovel of
(Baseline Traffic) # SR it
NPY¥ Austroads Simplified | Thir madelincarparater additional
(Baseline « Additional Traffic) * A reaffic.
Cost Difference F 1428258 The oxtra cartofincarporating

additional trafficintothe model.

Net Present Value

$2,000,000

$1,300,000 -
(_,

$1,000,000 +

Net Present Value ($)

2138
2161
2166

11 of 12



